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" IP,K ,KODE

FM1(1)=0.0

FM2(1)=0.0
DF{1,J)=0.0
CO{1,J)=0.0
ST(1,4)=0.0
FM(1,J) = 0.0

i~ PASS TWO
BLANKCARD

BIG=0.0

LM

ST(L,1-1),1=L M
ST(LI+1),1=L M
ST(1,1),1=L,M
ST(1,2),1=L,M

col1,1-1,1=L M
CO(I,1s1),1=L,M
Co(I,1),1=LM
col1,2),I=L M

I=IN-1

J=IN«
¥

Q=

ST{IN)

1

DF{IN,1)=ST(IN,1)/ Q
DF(IN,J)=ST(IN,J)/Q
DF(IN,1)=ST(IN,) )/Q
DF (IN2):ST(IN, 2)/Q
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FLOW CHART

FM(IN, 1)= FM(IN,1) - SUM-DF(IN,1 )
FM(IN ,2)=FM(IN, 2) - SUM-DF(IN 2)
J=IN#
]

FMU1,INEFMI,IN)-SUM DF(IN,1) CO(IN,)
@(IN,I ), EMUIN, J),FMUIN, 1), FMUN, 2)

FM(J, INI=FM(J,IN)- SUM DF(IN,J) CO(INJ)
FM{1, IN)= - SUM DF{IN, ) CO(IN,1)
FM(2,IN):- SUM DF(IN,2) CO(IN,2)

r m FM(IN,)=FM(IN,1 ) - SUM. DFIN, )
| @ FM(IN,J)= FM{INJ)- SUM.DF{IN,J)
| I=IN-1 ;

, |

l |

' L

FMI{INFM (1IN)

FMUL,2EM(T,2)eFM(1,1 ) i_-_._.

|
[ | FMUIL1=EMIL 1 FM(2,1) l
I
l

FMI(T), 1= 4, 1P

]

| ST(L,1-1), LM
I SUM=FM(IN, 1) <F M( STUL Y, LM
: - 1) sFMUIN, J ) -

| « FM{IN,1)+FM(IN,2) ST(I,1), kLM
! ST(1,2), LLM
| IsuM/-BIG (0.0 Yes-

. hel

!, BIG= |SUM]|
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P

CO(1,1-1),1=L,M
CO(1,1s),I=LM

Co(I,1),1=L,M
co(l,2),1=L,M

{

I

| 1=IN-1
| J=IN#1

|

I

I

[ [FMUN,1LEM(IN,J) FMUIN )

i_ ...... O
@.._._._._@

[ Two BLANK CARDS

e

THE FOOT MOMENT
JOIRT No.
MAX ERROR

@ lFMZ(l):FMZ(l)»FM(Z,Hi

®

FM2(1),1,BIG l

[\F DESIRED TO COTINUE

PUT THE QUT PUT AS
DA TA AND PUSH START

OR ELSE PUSH STOP

PAUSE
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C A PROGRAM TO ANALYSE A FRAMEBUILDING
C BY METHOD OF CROSS
DIMENSION ST (18,18), CO (18,18), FM (18,18), DF (18,18), FM1(18), FM2 (18)
READ 21, IP,K,KODE
21 FORMAT (2 I5,I2)
C THIS IS TO CLEAR THE ARRAYS
DO 44 I=L,IP
44 FM2 (I})=o0.0
17 DO 11=1,IP
DO 1j=1,IP
FM1(I)=o0.0
DF (1,])=o0.0
CcO (1,])=o0.0
ST (I,])=o0.0
1 FM(I,J)=o0.0
C READ ONE EXTRA CARD FOR PRESERVE OF
C REGULATION
READ 8
8 FORMAT ()
BIG=o0.0
DO loo IR =1 ,K
READ 22,L,M
22 FORRMAT (215)
C THE INPUT OF STIFFNESS FACTORS,
READ 2, (ST(L,1), I=L,M)
READ 2, (ST (I,2), I=L,M)
READ 2, (ST (LI+ 1), I=L,M)
IF (KODE— 1) 80,80,81
80 READ 2, (ST (I,I—1), T=L,M)
GO TO 83
81 DO 82 I—=L.M
82 ST (L,I—1)=ST (I— LI
2 FORMAT (11 F7.3)
C THE INPUT OF CARRY OVER
83 IF (KODE—1) 71,71,72
7t READ 3, (CO (L,1), I=L,M)
READ 3, CO (1,2), I=L,M)
READ 3, CO (LI+ 1), I=L,M)
READ 3, (CO (I,1—1), I=L,M)
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3 FORMAT (11 Fs.3)

GO TO 76
72 DO 73 I=1,20
DO 73 J=l,20

73 CO (I])=o0.5
C COMPUTE THE DISTRIBUTION FACTOR
C ABUT A JOINT
76 DO 4 IN=L,M
I=IN—1
J=IN+1
Q=ST (IN,I)4-ST (IN, J)+ST (IN, 1) 4 ST (IN,2)
DF (IN,I)==ST (IN,I)/Q
DF (IN, J)=ST (IN, ])/Q
DF (IN,1)=ST (IN, )/Q
4 DF (IN,2) =ST (IN,2)/Q
C READ THE FIXED END MOMENT (FM)
DO 6 IN=L,M
I=IN—1
J=IN+1
6 READ 5, FM (IN,I), FM (IN,]), FM (IN,1), FM (IN,2)
5 FORMAT (4 F 10.3)

C ENTER THE CARRY-OVER MOMENT OF LOWER JOINTS

READ g, (FM (1,I), I—4,IP)
9 FORMAT (8 F lo0.3/8 Flo.3)
C ADD THE FM WITH THE CARRY OVER
C MOMENTS OF UPPER JOINTS
DO lo I=LM
FM (I,1)=FM (L 1) +FM (2,I)
C ADD THE FM WITH THE CARRY OVER
C MOMENTS OF LOWER JOINTS
10 FM (I,2)=FM (I,2)4-FM (1,I)
C THE PGOCEDURES OF DISTRIBUTION COMMENCE
DO 7 IN=L,M
I=IN—1
J=IN+1
C SUM OF FM ABOUT A JOINT
SUM=FM (IN,I)+FM (IN, J)+FM (IN, 1) +FM (IN,2)

C COMPARISION OF SUM WITH MAXIMUM
C EXISTING ERROR

FL



IF (ABSF (SUM—BIG) 19,1 9,20
20 BIG=ABSF (SUM)
C COMPUTION OF NEW MOMENT OF A MEMBER
19 FM (IN,I)=FM (IN,1)—SUM*DF (IN,I)
FM (IN, ])=FM (IT, J)—SUM*DF (IN,])
FM (IN,I) =FM (IN, )-—SUM?*DF (IN,1)
FM (IN,2) =FM (IN,2)—SUM*DF (IN,2)
C NEW MOMENTS OF THE OTHER SIDE OF MEMBER
FM (LIN)=FM (LIN)—CO (IN,I)*SUM*DF (INI)
FM (J,IN)=FM (J,IN)—CO (IN, J)*SUM*DF (IN,])
C THE FM ABOUT 1,2 ARE ZERO
FM (1,IN)=—CO (IN,1)*SUM*DF (IN,1)
7 FM (2,IN) =—CO (IN,2)*SUM*DF (IN,2)
C THIS IS TO CONVERT THE NAME FOR NEXT STATEMENT
DO 40 IN=4,IP
40 FM1 (IN)=FM (1,IN)
C THIS IS TO PUNCH DATA FOR ANOTHER
C CROSS LOOP
PUNCHg, (FM1 (I), I—4,1P)
PUNBH22,L.,,M
PUNCH 2, (ST (I,1). I—L,M)
PUNCH 2, (ST I,2),I=L,M)
PUNCH 2, (ST (1,14 1), I=L,M)
IF (KODE—1) 84,84,85
84 PUNCH 2, (ST (LI—1),I—=L,M)
85 IF (KODE—1)75,75.77
75 PUNCH 3, (CO (L, 1),I=L,M)
PUNCH 3, (CO (I,2), I=L,M)
PUNCH 3, (CO (II+1), I=L,M)
PUNCH 3, (CO (I,I—1), I=L,M)
77DO 11 IN=L,M
I=IN—1
J=IN+1
PUNCH 5, FM (IN,I), FM (IN, J), FM (IN,1), FM(IN,2)
11 PRINT 12,FM(IN,I),FM(IN, J),FM(IN, 1),FM(IN,2)
12 FORMAT (4(3HFM =Flo.3), 3X,3H IN=12,3X,3H IR = I3)
loo CONTINUE
PUNCH 23
23 FORMAT (/)
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¢ THE MOMENT CARRIED TO FOUNDATION
PRINT 13

13 FORMAT (5X,50H THE FOOT MOMENT JOINT NO. MAX. ERROR)

DO 14 I=LM
Mz (I)==FMz2 (I} -+ FM (2,I)

14 PRINT l5, FM2 (I),I,BIG

15 FORMAT (8X,Flo.3,10X,12,14X,F8.5)
PRINT 16

16 FORMAT (46HIF DESIRED TO CONTINUE PUT THE OUT PUT AS DATA/

133 HAND PUSH START OR ELSE PUSH STOP)
PAUSE
GO TO 1y
200 CONTINUE
lo1STOP
END
TURN SW 1 ON FOR SYMBOL TABLE, PRESS START

END OF PASS 1

4.0 9.0 9.0
u'.) w o o
= ® ) o
6.0 5.0 5.0 6.0 o
o o o o o
w wn © w w
- ~ o~ o~
6.0 5.0 5.0 6.5
w wn w o o
e~ ® © - -
o~ ~ ™ b
12.0 8.0 8.0 6.5
o o
? Q
Ry . Ty} 5.4
wn o)) o:,
- — o
] o
3 3
19.0 8.0 8.0 6.5
S ° ° © e~
© e o 0 ™
o~ N o~

STIFFNESS _FACTOR
¢ S5
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LEFT RIGHT UP DOWN JOINT STORY
FM= 0.000FM=1169.113FM = 0.000FM = —1169.133 IN=5 IR=1
FM =—2384.473FM = 4067.988FM = 0.000FM =—1683.723 IN=6 IR=1
FM =--5187.882FM =15249.137FM = 0.000FM=—61.293 IN=7 IR=1
FM=—3857.957FM=  0.000FM = 0.000FM = 3857.957 IN=8 IR=1
FM= 0.000FM =2177.284TM = 0.000FM =-—2177.901 IN=4 IR=2

i

FM=—4g20.010FM=3g102.210FM= 113.933FM=1105.898 IN=5 IR =2
FM =-—2677.814FM =4863.552FM =—945.925FM =— 239.797 IN=6 IR =2

FM=-—3915.0390FM =3993.032FM=— 18.535FM=— 50.389 IN=7¢ IR=2
. FM=—3722.104FM= 0.000FM= 2514.868FM=  1207.326 IN=8 IR=2
FM= 0.000FM =34330.26gFM =-1634.707FM =—1694.951 IN=4 IR=3
FM=-—5049.108FM =3287.668FM = 768.093FM= g93.285 IN=5 IR=3
FM «=—3167.582FM ==3368.683FM =-—179.446FM -=— 21.624 IN=6 IR=3

FM =-—3439.786FM =236g6.964FM =—150.277FM=— 106.962 IN=%y IR=3

FM =-—3343.322FM = 0.000FM= 1404.275FM=-—1939.047 IN=8 IR =3
FM = 0.000FM =3847.928FM =-2006.183FM == —1842.601 IN=4 IR =4
FM =—6943.001FM =4369.965FM = 1167.823FM = 1405.302 IN=5 IR =24
FM=-—3937.435FM =3760.605FM= 87.500FM == 89.201 IN=6 IR=4

FM =—3633.936FM =4167.755F M= 84.999gFM =— 618.784 IN=y IR=4
FM=—g722.586FM= 0.000FM= 1892.508FM = 1829.988 IN=8 IR =4
FM=— 395.337FM=3718.211FM =-1532.440FM =—1790.444 IN=7 IR=j5
FM=-—3863.287FM= 0.000FM= 1694.758FM = 2168.528 IN=8 IR =5

FM = 0.000FM =3448.507FM =-1947.921FM =—1500.264 IN=4 IR=6
FM =—7861.757FM =4581.260FM = 1917.398FM = 1363.067 IN=j5 IR=6
FM =-—3759.756FM=3717.870FM = 43.526FM=—  1.644 IN=6 IR=6

M =—5663.460FM =4296.030FM =—764.131FM = 131.550 IN=y IR =6
FM=—3752.765FM= o0.000FM= 2541.211FM = 1211.553 IN=8 IR=6

THE FOOT MOMENT JOINT MOMBER MAX ERROR
—750.133 4 10.967
679.534 5
— 0.822 6
66.780 7
605.777 8

IF DESIRED TO CONTINUE PUT OUT PUT AS DATA
AND PUSH START OR ELSE PUSH STOP
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S 6 7 8 IN
1800 1800 4800 _4600 4800 -4800

1 IR}
3800 _3800 ,2800 -2800J3900 _3900:3900 -3300 2
4600 _4800 13200 _3200] 3400 .3400[{3600 -3600 3
6100  _ 61000 4100  _4100 3700 _3700}4000 -4000 A
‘ 3900 -3900 5
7200 _7200/3900 _3900]3700 _3700j4100 - 4100 6

FIXED END MOMENTS
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